S. S. JAIN SUBODH P. G. COLLEGE, JAIPUR
M. Com.ABST IV Semester
23ABS-9201T
Advanced Business Statistics |1

Assignment March, 2025
Max. Marks: 30

Instruction to the Students: Assignment consists of 6 questions. Students are required to attempt 3
Questions (1 Question from each unit). Write answers in atleast 500 words with good presentation

orEl F T A& 3 msadc & 6 U &1 BE A 3 9T & 3cdl &l OIS § (IAF S J
1 9%=1)| 3 Yl o @Y ®H § & 500 sl # 3ec) fordd |

Section A (@YS A)

Q.1 What are the components of time series? Explain briefly the various methods of measuring
trend. 10

et 0T & FleT HIT F " 872 39afa AT i AfFe=r AT o geia & gasmsd|

Q.2 Calculate the first four moments from the arithmetic mean for the following frequency

distribution: 10
frAfaf@d 3mgfcd faawor & fore Are ardet wud IR aREd gl Hifo:

Value 2-4 4-6 6-8 8-10 10-12

Frequency 4 2 8 6 1

Section B (@Us B)
Q.3  Discuss the advantages and limitations of multiple correlation analysis. 10

SEIUN HE-TFatT [a2eIvoT & oiredt IR HA3 7 quiel HIfTT|

o)

Q.4 In an examination 880 students appeared. The number of boys was greater than that of girls by
20% of total number of students. The number of successful students was greater than
unsuccessful students by 400. The number of unsuccessful boys was 100. Prepare a twofold
association table and find out coefficient of association between boys and success. 10

Teh ILIETT H 880 BT IUREU §U| ST T ool HEAT H TSI T HEAT eT3fehT T JeleAT 7 20%
3778 27| ol ST T G&AT IITH ST T 400 31T 27| 37T ISeh T TEAT 100 AY| T
aledr HaTfel ATfeIshT R &Y AR STgehl AR AoherclT o e HaTfel T I[0Tieh 3Tl Y |

Section C (@Us C)

Q.5 What is meant by ‘Vital Statistics’? How such statistics are collected and what purpose they are
used? 10

SaeT HD J 3TThT FAT 32T &2 TE THS T TR Thiad [ ST § U [l 38T &
T saepr 3UTET gIAT 87

Q.6 The age of mothers and the average number of children born per mother are as follows: 10
ATCI3T T 3T T Fedeh AT oh STl dTel 3=l el hl JET 3T T &

Age of Mothers (In years) 15-19 | 20-24 | 25-29 | 30-34 | 35-39 | 40-44

Average number of children 05 20 3.0 ” 45 5.0

(Born per mother)
Interpolate the average number of children born per mother aged 30-34.

30 -34 @rmmﬁrmdlﬂ’r%drﬁﬁ aTel ST T 3 TT TEIT T a7 Sl |




S.S. Jain Subodh P.G. College, Jaipur
M.Com (ABST) Il Semester
Management Accounting
Assignment March 2025
Maximum Marks (MM) 30 el 37 (MM): 30

Instructions to Students: Assignment consist of 6 questions. Students are required to attempt 3 Questions
(1 from each Unit). Write questions in atleast 500 Words with good presentation.

orEl & AT e 3r@rsade & 6 weT &1 El # 3 UREAT & Icd¥ oAl HTERTH ¢ (IAh SHS
1 92)| Tcdsh 3cck A HA @ &A 500 Asc; gl TRU R g 3l i & @y fad|

Section A/ SHTE A

Q.1: What do you mean by common-size statements and trend analysis? Discuss their
importance and limitations.

TSR fIaRoT & 319 =1 FHsId 8° s9¢ dgcd 9 UHE garsy |

Q. 2. With the following ratios and further information given below, prepare Trading
Account, Profit and Loss Account and Balance Sheet of Shri Vishnu:
fF=feTRad sruTdl T GadRll & R W 3 AW &7 AR WAl d9—aT= drar qr
faear 8-
Q) Gross Profit ratio 25%
(i) Net Profit / sales 20%
(iii)  Sales/Inventory ratio 10
(iv)  Net Profit / Capital ¥4
(V) Capital / Current Liabilities %2
(vi)  Fixed Assets / Capital 5/4
(vii)  Fixed Assets / Total Current Assets 5/7
(viii) Fixed Assets Rs. 10,00,000
(ix)  Closing Stock Rs. 1,00,000

Section B/ S%1S B

Q. 3:  Syntex Ltd. is thinking about a choice between 10% debt issue and equity issue to finance
its new investments. The firm's pre-expansion income statement is as follows:
e o1, oo 0 fafamT & o 1 faweni 10 Ufoer@ kor oo ST @_4 3ie@r
QRO 3Rl & FRHT PR W IR BR I8 & | BH BT [OAR A gd DI A Jeror g9

JHR &
Rs.

Sales (Production capacity of Rs. 60,00,000 at current sales price) 45,00,000
Fixed Cost (-) 5,00,000
Variable cost (2/3) (-) 30,00,000
EBIT 10,00,000
Less: Interest at 8% (-) 1,00,000
EBT 9,00,000
Income Tax 50% (-) 4,50,000
Net Income (-) 4,50,000

EPS Rs. 9



Q. 4.

Q.5:

Q. 6:

The new investment requires Rs. 5,00,000. If this is financed through debt, the rate of
interest will be 10%, and P/E ratio will be 10 times. If expansion programme is financed
through equity, the new shares can be sold at Rs. 100 per share and PE ratio will be 12
times. Expansion will generate additional sales of Rs. 12,00,000. No additional fixed
costs would be needed. If the company is to follow a policy of maximizing the market
value of its shares which form of financing should be employed by the company.

T AT @& for) 5,00,000 %. & AEWHAT 2 | e THG K0T 9 Y &I IR AT =TS
DI &R 10 FRIRIG BRI ToI AR 375i4 U 10 AT B8R | Al g9a oy faxig ueee
AR 32 & A & fhar S a4 &fer 100 &, UfT 3 W 99 Of 9hd & dl o™
3TSf 3TUT 12 I BT | AR ¥ 12,00000 %, @1 AfaRad fasr 8Ffi) 1% afaRaa
Il AN &1 Aaegddr T8l s8R | Al Hae 3fel & IR Jed # |aifde gfig e
HI AT BT I HAT A= AT ST B gIRT (9d Jaed & DI A1 Ay ra=rit S
oMY |

Shiva Limited's capital structure consists 30,00,000 equity shares of Rs. 10 each and 10%
debentures Rs. 4,00,00,000 whereas the total assets of the company are Rs. 10,00,00,000.
The company's total assets turnover ratio is 3 times. It's fixed operating costs are Rs.
5,00,00,000 and its contribution (P/V) ratio is 60%. The income tax rate is 30%.
Calculate for the company all the three types of leverages.

Rrar faffies & ot dT=ar # &, 10 aret 30,00,000 AT 3T TAT &. 4,00,00,000 & 10%
KUY §, Siafeh edell # ol Fedfeadl €. 10,00,00,000 &1 FFeAT T Hel Fodfcl eyl
39T 3 9[0T g gEhr TR gRETell oETd &. 5.00.00.000 AT SHHT 3HRAcT (SAT$TATA)
3TUT 60% Bl 3T AT X 30% g1 HETel & T el GohR o Sccllelehl &I IOTAT
HITST|

Section C /8%T1$ C

What do you mean by the dividend? Explain the different types of dividends generally
declared by companies.

ST H 3T FAT JAYT § ? FFIAAT SaR’T & St arel faffest 9 & omemeit &
guier ST

Write shot notes on :-gfgica fecaofr fafedr -
a) Target Costing &6 ST oldiehs]
b) Kaizen Costing FIIsiel ATeTd ol@iehe]




ASSIGNMENT — April-2024

M.Com -Semester- 11

Advanced Corporate Accounting —ABST- 203

Instruction to the students/ el @ ford A3

The assignment consists of six major questions. Students are required to answer

any three questions

sIgTHE 4 & gga ge & [Aenfal i &1 div gel BT Saav @l STeIF &

Section-A

Q. 1. An Electricity Supply Company rebuilt and re-equipped part of their power house at a cost
of 7,80,000 The part of the old power house thus, replaced cost 3,00,000. The capacity of the new
power house is exactly double than that of old one. 10,000 is realised by the sale of materials, and
old materials valued at 20,000 are re-used in the construction of new power house. This amount is
not included in cost of 7,80,000 mentioned above. The cost of labour and material is respectively
40% and 30% higher now than when the old power house was built. The proportion of labour and

materials may be taken as 2:3.

Show the necessary journal entries and ledger accounts in the books of the Electricity supply

company under the double account system.

U faorelt gfd ot 3 1o fasTell TR & o8 UM &1 gARIfoA quT HagA % 7,80,000
AT R fosar, R fasTell @R &1 S 4T wicrRrfid fasam Tam, 39t o R 3,00,000 &1 1A
faroTelt TR Y eFaT R faoiel TR quiRedur greit 81 QR ARl & o9 & 2 10,000 U
8T, 3R 3 20,000 G B R AT UfaToq &1 § Uged &1 T | I8 VR SWRIad afofd
37,80,000 ¥ Wiferd 18T g1 5@ QR forofalt @R &1 A0 fovam 7T o1, 39 9Hg &1 ga |




3T 9 3R AT &1 AT H HHRT: 40% 3R 30% B IfG T &, 9H AR AU HT U 2:
3 ferar S o@ar g1

fg-aTaT UG & Sl foroten gl 3 &1 gdah! § STa=adh o Uiaiyal aul @Td S|

OR

Explain the Revenue Account and Net Revenue Account?
REESEGI IR < ISd QAT Dl GHRT ]
Section- B

3. How advances of Banks are are classified? Give the norms for the creation of provision in

respect of advance.

b1 & AT (Advances) 8 Fifferd farT ST 82 31 & forw Uraem 9 & AFES Sargu|

4, Given below are the revenue items of National Life Insurance Company Ltd. for the year
ended 31.3.2012:
I AP SR B fAIfics @Y 31.3.2012 &7 f=falRad emrma 7d & Tt €
Premium 1,12,000
Consideration for Annuities 30,000
Interest, Dividend and Rents 4,000
Claims 48,000
Annuities 16,000
Surrenders 16,000
Bonus in Cash 4,000
Bonus in reduction of premium 6,000
Commission 4,800
Expenses of Management 30,000
Interim Bonus paid for the Valuation Period 7,200
Life Assurance Fund as on 1.4.2011 48,800

As on 31.3.2012 net liability as per Valuer's certificate was Rs. 48,000. The
company wants to write off Rs. 4,000 book value of investments. As a result of Valuation,



the company declared reversionary bonus of Rs. 135 per Rs. 1,000 and give the policy
holders an option to take bonus in cash Rs. 75 per Rs. 1,000. Total business in force was
Rs. 2 lack, 3/5 of the policy holders in value decided to get the bonus in cash.

Prepare Revenue Account and Valuation Balance Sheet and Distribution Statement. Also
pass necessary Journal entries and prepare Life Assurance fund a/c.

31 #Td, 2012 Pl dHIHD D YAVIH P AR Y& NI b, 48,000 AT | HHi1 AT # 4,000
JAfeTRad &R @Ml 2| dHidhd & YA U & IMIR TR HH o B, 1,000 &I Gl R . 135
STRANT G99 AT fbar @ diforfe) &1 . 75 Ufd 6. 1,000 T 999 o BT fddbey a1 g
®. 2 A B Uil Fra g5 1 3 /5 (60%) o & UifoRIgRST 7 96 a9 ol WieR b

I T, i facer 9 faavvr fAavvr IRARmTd d¥ia | GIR BT | 3Maedd Si-idl yfaftedr der
ST 1 HIY @7 A IR B |

Section -C

What do you mean by fixed assets? Explain the various methods of valuation of property,
plant, and Equipment?

3T R YR (Fixed Assets) & o1 THI &2 JUR, T4 3R IUHRUN & Hedids Pt fafdrat
faferal ot s 31|

Describe the concept of goodwill and explain the various methods of its

evaluation.
YTy BT TR BT I DY 3R 39D Gedidh-1 B! [l Al &t e &1 |



S.S. Jain Subodh P.G. College, Jaipur
M.Com || Semester

Goods and Service Tax
Assignment March 2025

Instructions to Students: Assighment consist of 6 questions Students are required to attempt 3
Questions (1 from each Unit). Write questions in atleast 500 Words with good presentation

SEI & U Y. SETHc H 6 UY B | ST DI 3 UH BT IR ST WP & (YD DTS U
U%) | Y IR H HH Y HH 500 Ueq g1H el R U DI UKfd & 1Y

Maxminum Marks 30

Section A (98- Td) 10*1

Q1. What is the procedure of registration according to CGST Act? Also explain rules
regarding registration procedure.

AT AT & STIR USiinvl o1 Uichan o1 32 TIY g1, Usiiprul Uichar 9 defdd g ot sare
BHL|"

OR

Q2. Write short note on the following-

(i) Input Tax Credit on Reverse Charge Supplies,

(ii) Relief from Reverse Charge,

(iii) Provisions of Section 9(3) and 9(4) of CGST Act related to Reverse Charge.

Pty
(1) R g4Y9c <™

(11)?43@31# Xled,

(iii) Teiugel AFTH HI ¢RT9(3) 3R 94) W Ta&idd Rad Al & UGy |

Section B (WS- a‘l) 10*1

Q3.Ram and Shyam Pvt. Ltd. received X 5,000 as a subsidy from Central Government and
4,000 as a subsidy from a NGO on sale of such goods. The price 0ofX 1,00,000 of the goods is
after considering such subsidy. Ram and Shyam Pvt. Ltd. offers 2% discount on the list price
of the goods which is recorded in the invoice for the goods.Determine the value of taxable
supply made by Ram and Shyam Pvt. Ltd.

"IH 3R GE U1 fil. B g WPR I 25,000 3R Th TRIWRBRI TS (NGO) I 24,000 P Iiedat 34
a3l B! foeh! IR UTed 85 | aegsii ®1 21,00,000 B! 1A 39 TiedS! 1 &M H 1@d gU g1 IH 3R WM

1. 1. el e WR 2% D1 Fe U HRdl g, ford Hid & a1 § gof (a1 Srdl 8
M 3R ™ W1, . gRT D1 712 & I 3MYfdd o1 Jed Feia s

OR

(3 scanned with OKEN Scanner



Q4. P Ltd. is a manufacturing concern in Jaipur. In financial year 2018-19 taxed under year 2018-19

basis are X 1,53,80,000. The break up of supplies are as follows:
4} fafties SaR | Ryd ta fafAaiu 3&1s g1 ladia av 2018-19 7, 5 99 2018-19 & 3R W HIYH

fapam T, R T 3Mgfd 21.53,80,000 B 1 3MYfi &1 faaru Fafeaiaa g

Particulars (%)
(1) Intra state supplies made under forward charge 80,00,000
(2) Intra state supplies made which are chargeable to GST at Nil rate 38,00,000
(3) Intra state supplies which are wholly exempt under section 11 of CGST 35,00,000
Act, 2017
(4) Value of inward supplies on which tax payable under Reverse Charge 80,000
Mechanism

Briefly explain whether P Ltd. is eligible to opt for composition scheme in Financial Year 2023-247

"HET H JAAU % o1 U} fafire s o<t au 2023-24sH GREA1 Do (Composition Scheme) fflﬁ & ﬁm UIE]
82

Section-C (Ei‘s’— icﬁ} 10*1

Q5. State the provisions of the central Goods and Services Tax Act, 2017 under which offences may
be compounded. Also state the rules regarding procedure of compounding of offences.

"He1g 9% Ud a1 FR AT, 2017 & d WA §d1sC fSHe dgd rORIe & Y93 (compounding) &
H1e9d I AU o I6dl g1 91d g, SMORTEN & IJHSId &t Uikl § Jaidd Fadl o sars &3 |

OR

Q6. Write short notes on the following:
(i) Power to summon persons to give evidence and p documents.
(ii) Officers appointed under section 72 to assist proper officers.
‘Frafafed wR digna fewof fore:
(i) HIET S 3R SXATAS Udd A & foT afadd] &l 90+ oA o1 Afad |
Gy  Sfed ifereIal @ gerdT & T 4RT 72 & ded g e

(3 scanned with OKEN Scanner



S. S. JAIN SUBODH P. G. COLLEGE, JAIPUR
M. Com. ABST IV Semester
23ABS-9401T
Financial Reporting

Assignment March, 2025
Max. Marks: 30

Instruction to the Students: Assignment consists of 6 questions. Students are required to attempt 3
Questions (1 Question from each unit). Write answers in atleast 500 words with good presentation

Bl & T e 3 asade & 6 9T §1 BT A 3 U2 F 3R ST IERTF & (Fcdh Shs T 1 9:T)|
3T 9 & AT A G FA 500 Asel # 3R ford |

Section A (@USA)

Q.1 "Corporate Financial Reporting is usually considered as end product of Accounting"”, explain it and
discuss the objectives and importance of financial reporting. 10

e faxiia ufdaed & 3MTHAR W aaic o1 3ifaH IdTe HIHT SITdT 8", $9PT aui- HIfere 3R faxhia
Ufdde & Ie= 3R Al & [ada1 Sifve|

Q.2  Explain the meaning of International Financial reporting standards. What are their objectives? Why

these are adopted? 10
RIS fariTa ufade Ie! &1 31 THSET | 370 I T 52 I8 941 ST STl 872

Section B (@Us B)
Q.3  Explain the Guidance Notes which are issued for Accounting Standards. 10

AR AT & forg ik} fru S arat AnfefRiersl o saren &9

Q.4  From the following figures, prepare value added statement and calculate (i) Value added to Capital

Employed Ratlo (||) Employee Beneflt to Value added Ratio 10
| Y T aftld favur TR ST SR 70T 3 (i) Jeg aftfd o1 goit Fafora W eraTd
(i) PR A4 Y Y aifd W ST
Rs.

Sales and other Income 7,58,000
Income from Investments 7,000
Cost of materials and services used 4,30,000
Salaries and Wages 68,000
Other benefits of employees 10,000
Income Tax 1,000
Excise 1,81,000
Interest on borrowings 35,000
Dividend 4,000
Depreciation Written off 33,000
Profit Retained 3,000
Capital Employed 10,00,000

Section C (@Ys C)
Q5 Write short note on the following: 10
(a) Human Resource Accounting
(b) Inflation Accounting
e o e fewof ford:
(1) HITd THTY AGich
@) GEpIfd i

Q.6 What are the recent changes in Financial Reporting? Explain them. 10

qaa  faxfia Raifé & aar 9eema gu 82 3% a0yl



S S JAIN SUBODH PG (AUTONOMOUS) COLLEGE, JAIPUR
M. Com ABST IV Semester
Assignment March 2025

Strategic Financial Management

Instruction to the Candidates/ 3t & ialéQI

Assignment consists of six questions. Students are required to answer any three questions.
SRS H B8 U 8 | BN &I {5 i<l warell & ofard G- gl |

Unit1l

Q.1) Describe the elements of effecting the financial Planning.

forita fae &Y yHIfad B ardl dedl ol auid oy |
Or

Q.2) Explain the meaning of stock market and explain the main functions of stock exchange.

TR TR BT 3 O T Tidh TR & - 1A gaigd |
Unit I

Q.3) What is Security Analysis? Discuss the techniques and factors used for economic and
industry analysis.

gferyfa faxersor aar g2 s iR ST faxeryor & e Sugiv &t o arcl! ddb-ia! iR
PRPI IR Il BN |

Or
Q.4)  Strike Price Rs. 400
Put option premium Rs 20
Expected market price Rs 350/ 370/ 400/ 420/ 440

Calculate gain and loss amount by payoff table for both parties.
Unitlll
Q.5) Describe meaning of Portfolio and formulation of strategies regarding Portfolio.
TICWhIferdl BT 31 3R UICWIferdl & ey | oM & fAafor &1 9o &< |
Or

Q.6) Mr X On 1t July 2017, during the initial offer of some mutual fund invested in 10000 units
having face value of Rs 10 for each unit. On 31.3.2018 the dividend operated by the Mutual



Fund was 10% and Mr X found that his annualized yield was 153.33%. on 31.12.2019, 20%
dividend was given. On 31.3.2020 Mr X redeemed all his balance of 11296.11 units when his
annualized yield was 73.52%. What are the NAVs as on 31.3.2018, 31.3.2019 and 31.3.20207

fAReR ToT 7 1 ATS 2017 B! $3 T3 B B! LIl UMD P SRM 10000 FH1T
7 faw1 fora, foman! Udi® saTs o forg siferd g 10 30T 11 1. 31.3.2018 1 Tg3@
B8 GRT FdTferd ATHIRT 10% T 3R &t Ta = uran b 3! aiffies Uimd.153.33% 2|
31.12.2019 Pl 20% ATHTRI faTT TAT1 31.3.2020 BT T TR A 11296.11 FHIZTT B U AR
Y AR YAT &, ST SD! A T 73.52% U1 31.3.2018, 31.3.2019 3R 31.3.2020

AT R E?



S.S. JAIN SUBODH P. G. COLLEGE, JAIPUR
M. Com. ABST IV Semester

Quantitative Techniques
Assignment March, 2025

23ABS-9404T

Max. Marks: 30

Instruction to the Students: Assignment consists of 6 questions. Students are required to attempt 3

Questions (1 Question from each unit). Write answers in atleast 500 words with good presentation

ol § fAv T 3raEadc # 6 99 g1 ST &l 3 U & 3cc coll AT ¢ (Jcdeh 35 & 1

9ReT) | 3TEST GEIIA & A1 A & HA 500 sal # ek fordd |

Q.1  What do you understand by Quantitative Techniques? Explain the essential characteristics
and limitations of Quantitative Techniques.

gRATcHS JRAfOAT O 379 FI1 gHsTS §2 IRANHS gafaar fr 3mags FAwanid

3R At fr aarear HifFw)
Q.2  Solve the following linear programming problems:

fore=1 IT&F AT T FAEIT &l gl hIfAT:
Max. Z=50x%; + 60x>
Subject to: 2X1+ 32 < 1500

3X1+ 2X, < 1500

X1 < 450
Xy, X2 > 0

Section A (s @)

Section B (@vs 9)
Q.3 What do you mean by an assignment problem? Explain the difference between transport

problem and an assignment problem.

ITITET FHATAT T YT AT dre9y §? IRageT FaEr 3R 3¥=aaa 738 & g

IR Tose fifSw|

Q.4  Solve the following transportation problem:

AT @d YRagd THEIT FT g HITIT;

Store
Warehouse W < v = Supply
A 42 48 38 37 160
B 40 49 52 51 130
C 39 38 40 41 190
Demand 80 90 110 160

Section C (@vs |)

Q5 What do you meant by Programme Evaluation and Review Technique (PERT) and
Critical Path Method (CPM)? Explain the difference between PEART and CPM.

HRIHA Hediched Td HATET deheileh (I1E) 3R =RA 9o fafer (@ddivs) & 3maenr #an
areay 72 gre 31 Ardiee & i 37/a Tose |

10

10

10

10

10



Q.6  The following table gives the three time estimates of different activities: 10

fAefaf@d drferer & faffie= shanait & fov dier gearan feu e g:

Time Activity
(in Weeks) 12 | 1-3 | 24 | 34 | 26 | 45 | 46 | 57 | 6-7
Optimistic (t,) 3 1 6 2 2 4 5 1 1
Most Likely (tn) | 5 2 7 5 4 6 9 2 4
Pessimist (t,) 13 15 8 14 12 8 13 3

a) Calculate the expected time and variance of each activity.

b) Draw the network diagram for the project.

c) Calculate the expected length of critical path and standard deviation of critical path.
d) Find the probability that the job will be completed in 23 days.

T) 9 fRam3tt &1 gearfia @ag AR fagds g fHifaw)

) IR & fIT Acas 3N FaA0|

) Hifde 9¥ Fr 30fard ders AR g\ e b e sl
) IRASTET & 23 feal # &l Sl &l Tf¥ehar AT ST
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